(C address, value ) {
tag = ( ) C (address & ) >>> 8 );
slot = ( ) C (address & ) >>> 4 );
offset = ( ) (address & N

( tag == .node[slot].getTag() ) {
.node[slot].getValid() ) {

.node[slot].setDataCoffset, value);
.out.printf(
.node[slot].getDataCoffset), address );

)

.dataCaddress);
.node[slot].setDataCoffset, value);
.out.printf(
.node[slot].getDataCoffset), address );

.dataCaddress);
.node[slot].setDataCoffset, value);
.out.printf(
.node[slot].getDataCoffset), address );

O {
.out.println(
b = 0; b < SIZE; b++ ) {
.node[b].printCache();

.out.printlnQ);
(C data) {

.data[data];

(C data,
.data[data] = count;

O {

.valid;

C valid) {
.valid = valid;

( tag) {
.tag = tag;

O {
.tag;




